0001328271768999

o0 TEXY 00—

9013 4 [E22HS 55 4 [

4| f(x)=e P95, FETHL, Bz O3 MEER Loyt A, (1), SB(U—log2, f(t—

(1) t20m& ¥, =K OAB DOIfiff S DA% Kk &.

(2) kZEMBEL, t =klog2Tha e XDO=fMLOABOHiFE S, ¥ 45, HAKRIZHLT, 35, %
k=1
Medd k.

(1) At e7t) . B(t-4y2, £71%7)
S=FeN(t-0,2 - o2 7-‘/

= fz'// te -y —ze |
(

= :2./— Tft'*(fhtﬁjZ)
= }Zé’-t'(7+.€o52)
) ol [ -
Sz e (tragz) + € I[g +]o | -
Sl 2]V
= }Ze-f,(/_z-“/&?‘z) L J.[f_ LCJ
Z 2

SoBxiba t ( telu2)

- ~(k+1)
(2) S& = ;3‘/'6 k%z'(/e,&,z +by2) = 2_( {'(/eﬂ)lojz

g / h/
LS 288 LRl S = 5T Zhg2 + 53 g2
& 2 ,

+2n1‘f '1192
o ol o 4
5= £ = h+t/
__) < i 242 * 22 ﬁ’JZ ¥ 23 Mog 2+ “"f;;,-'L,?-?,

n+l

/

S= ;5:32 +zz£a52 *z'}éﬁv?-Z.""'*’z{,-g'ﬁz - 2»:0-! 109»2
’d /_ lﬂ-l

&?2<H4( (#)") n+/)

- i Y
fed 2

t

- 492
2n+f ’

(3:2"-n-3)

Vi4




